IV Axy9D = 119N

12.3.2013
_DYYPVLIR PINDI I INYIND D) TPUN)
x3 d
| = dx 15007
= f 2—=1 f du 92PN Y .u = x4, du = 4x3dx N2 .N2¥NI IXY YN
1 1 1 1
i R —_— — = " 22 ) M
-4fu2_3d 42\/—fu 73 u+\/§du |u+\/—| 8\/_l x4+\/—|+CN’€D PoNn ©1av a5

f(1+ N_dx (2 NONT

1
1] T =[—— (1+x) = 2+xdu = f —du = 2arctanu + C 2apn v .u = Vx, du = ﬁdx N2

dx =|2arctanVx + C|w

f (1+x)\/_

1
[——dx: 35007
sinx

U = COS X NIANN Y NN .1>AN D) INNn

[ sin” x cos® x dx : 4 x0T

930 19 [ sinx (1 — cos? x)3 cos® x dx NS YNOPNN NN PN U = cosx, du = —sinx dx W)

JNOINN
. cos®x . 3cos'x 3cos'3x  cosl®x
[ sinx (1 —cos?x)3cos®xdx = — [uB(1 —u3)?du =|- + - + +C|
9 11 13 15
sin? x+13
[————dx : 55007
sin* x+cos? x

2

1 u
x = (u? + 1)duon.cos?x = — ,sinx = — wWru = tanx vV
1+u 1+u

1
NX NINNN IR Y¥D YD .du = ———d

NN N
w2(1+u?)+13(1+u2)° du u2+13+13u? 14u2+13 14u%+13
[ (1+u?)+13(1+u?) =f du=[—"Zdu=[—2=_duw
ut+u?+1 u?+1 ut+u?+1 ut+u?+1 (u?+1)%2-u?
1 1 13
14u?+13 Au+B Cu+D Juts —ut
= = = 52pPNN DMV P 97y

> P 5 = =
NP T RPN NI ‘(W?+1)2-u?  uZ-u+l  ul+u+l u?-u+1  u?+u+i

RwllVh)




.DYY N LYND N2 WHNWNY TWIN IR MW TSN ,NPIN TIND KON TAN TN TPNMOIND DY 1I1YDN NN A Nyd

: YDIDNIND NXIVNMINIVN NANNN

2U_NYCOSX = 1-u? DO .cos? (E) =1 sin? (E) = WU = tan (5) DXNN
1-u?2 T 1+u? ) 2) " 14u?’ 2) 7 1+u? - 2

. 2u
sihx = ——,tanx =
14+u?

1 1 du 1 x
J—dx=[—F—=[-du=Inu/+C=In |tan (—)l + C w0 NYNNN X300 NN W NN NYD

sinx Tz 1+u u 2
TY NI NNTIPN RHINTL VX2 792 NPT ITI TPIDIDNND NIAXNN DN T2 INK PN INK Y 95 MDY Py 5773

'Yy’ nasnn nnd



